Units & Systems

Caption Confusion

What a mess! If you read the first row of this table horizontally, it says,
“The mass of San Francisco to Philadelphia is 12 feet.” That makes no
sense at all. With a partner, please cut out these 18 sentence parts, then Here is 4

rearrange them so they make sense. If you succeed, your new how fow _tSGM {t of
sentences will work as captions for the images on Concept Cousins. / fite capﬁon,

When you and your partner are confident that you have the correct
sentence to be an image’s caption, rewrite the sentence into the blank

lines below the image. The mass O‘F the 30Ld bar
is 1 kilogram,

=AY

The mass of San Francisco to Plniladelphia is 17 fect

The volume of the measuring cup

is 10 kilo%rams.

The lcn%'rh of the astronaut is about 130 milli%mms.

The weight of the (adder

is 7 cups.

is 2,819 miles.

The distance from the Puzzlc cube

The capacity of the applc is 71 cubic inches.
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